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You have been called for the written test based on the online data fumished by you in the web application. If you have

wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected

2. g Ela A [AderE $r 3ufeufa 7 &) 3nue gia-ee 9 geaer &3 arfgv]

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. UR-UH, 80 WA A o WRA-GRFaH F FT A B AR adfrem F 3afr 02 @ ¥ |

~ The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. gEiEScR e & fav gud ufa afRa 3reret AR Seav-gfede: & s

A separate OMR answer sheet with duplicate will be provided to mark the answer options.
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Each question carries 04 marks and one mark will be deducted for each wrong answer.
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6. UL ad B 3 AR wed-iaer Aot B (@S, MTANR Sear Iieder W fafeve T o

o e iU
Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

7. wa-gmﬁmmwwwml

Enter your Name and Roll Number correctly in the question booklet.

8. mﬂmm-gﬁ?mﬁmﬁqfaﬁzﬁmzﬁmm$aﬁrq@zw#€rﬁmml
All entries in the OMR answer sheet should be with blue/black ball point pen only.

9. mﬁwﬁaﬁamﬁww%masﬁﬁmﬁﬁ@ﬁ?wmmﬁwml

The questions will be objective type with four options out of which only one will be unambiguously correct.

10. 3T, Seak-gfeaet & faw 9T el & HeER, Arel/ehTell TR & dier TTse 9eT ¥ SNTAAN 3eal-
qEcrRT & HeTRe 3ifaer Y e X e Seak 1 A HA 6

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

11, Teh YT o ToIT 3feieh Sec ITolcd ATl ST |

Multiple answers for a question will be regarded as wrong answer.

12. Wmmﬁﬁmmmmmmmw
I CIGK] FC 1L

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall. '

13. OB 9UT Bl W, MR Fea- e B ST & See Fea 3 $12 A HeT HTHANR FeaX-GEqH
Frfieres ot A e gl Wi Jas ur W

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you. '

14, Se-gfeeaT 373t 3r9e UrH 7@ Fhd o

The question booklet can be retained by the candidates.

15, ORI & T 6 ¥ e srsafdial Y afaT g Bise i ITARA T T

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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STFeTAA-Sl AT (1305/DRAUGHTSMAN-B MECHANICAL (1305)

1.  AFTIHN(FATSAITE) T IGATT % faw gar g1
Clinograph is used for -

(@) IO & AT F fd=ar/measuring and setting the angles

(b) 3IRWOT H TIET ®/ink work on drawings

(c) &fasT YW & 3RWUT/drawing horizontal lines

(d) IET R FAR @1 & 3TWOT/drawing parallel lines at inclination

2. 39enfRe faAT gl
Superfluous dimension is a
(a) Rl faAT/functional dimension
(b) @&ToT fdAT/feature dimension
(c) HATaRTs TdAT/un-necessary dimension
(d) SEI'EFIT fd#T/chain dimension

3. fwfaf@a & O sla-0 3fFa tadiEieTr & &9y J @ 87
Which among the following statement is correct about LVDT?
(a) T & aa:{lff foeie & sgaar §/converts pressure into electrical output
(b) ﬁfﬁ' Sl aag?r fA9TH & seoar R/converts strain to electrical output

() Y&+ farus «r 3@?—[ et # SEAar &/ converts linear displacement to electrical
signal
(d) 3udFa @8fi/all of these

4. %3z st 7 yrafos gfasgor (RAfes Aol v yomely & 3uAler axar & e
IGeaiy T AT S §

Parametric modeling in CAD programs utilise a system in which the dimensions control the

(a) HISA & HAT T 3HHN/size and shape of the model

(b) HASH & HTIeT ol&TUT/perspective features of the model

(c) Alsd & AAr & AT 39gFd STATRIV/shading used to render the model
(d) 39IFT Tall the above

A 3 1305/16
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5. TEdT GATAT ST 39AET F T gar gl
Use of plug gauge is '

(@ T T & HYT/to measure screw threads

(b) FIUT & HIYed/to measure angles

(c) SelehR 33T SUTH & H9el/to measure cylindrical bores
(d) el &l & HATYsI/to measure spherical holes

6. e 3 RN AR F 30T ¥ I F I9gFT T Ao IS gl
An angled surface used on cylinders to make them easier to handle
(2) frele/Fillet (b) <UL/ Taper
(c) AFal/Chamfer (d) 3/ Lug
7. TEd HET A Q3 G ST AR
Acceptable parts must not extend beyond this
(a) 9REHA/Boundary limits () Bz dATVHole limits
(c) fafAdersT/Specification (d H%‘U_ETIT olerances
g ITATT e FrEd gur 3T AT fR S Eehdr T, gl
Exact size from which the limits of size are determined is
(a) HR—T-Iﬁ? HTHTT/Actual size - (b) TAfAT 3TATI/Dimensioned size
(c) 3cUIGsT HTHTI/Production size (@ 3mardY 3TATY/Basic size
9. wfgsurar ¥ fav Rfafis &

=

Tolerance are specified

() difda fre gifda F{/to obtain desired fits
(b) FOifF A AT FH AT GHg e &/ because it is not possible to manufacture

exact size

(c) 3=T QTQJIEFII[J?JTzﬁHT gIf&e F/to obtain high accuracy
@ 3fa 3Tl UTei/to have proper allowance

A 4 1305/16
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11.

2

13

14.

247
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Bg-dwe gumelr & e & H7S6 & &9 & (fAse frar mr & fFe & UK

gl
The fit on a hole-shaft system is specified as H7S6. The type of fit is
(a) fseraa fhe/clearance fit (b) oura e /running fit
(c) 9 fhe/push fit (d) & fhe/force fit

SIIeR A H HASEY | FIROTAT
The longitudinal joint in a boiler shell is usually
(a) &g AT/Butt joint
(b) T Af&/Lap joint

(c) G 3maxor ufger & Ay 9% AfA/Butt joint with two cover plates
(d) Uk 3TaRoT ufgehr & AT dg FA/Butt joint with single cover plate

g% 9T # enfAer ior gl

In a curve thread, the included angle is

(a) 55° (b) 60°
(c) 29° | (d 56°

I UT FT 3UGET dd gl § I Fal &l

Buttress thread is used where power is to be transmitted in

(@) Uk fgeM/one direction

(b) ar f&=mu/two directions

(c) gl fGRm3T H/both the directions

(d) 3‘q2‘ﬁ)a—.‘-r qA aﬁé #Aei/none of the above

feer & Foiia == &

oS 1 I PR # & FA-E G S Q) S S ¥ e &0

Which of the following key is under compression rather than in being shear when under load?

(a) Ysel/Saddle (b) dTd/Barth

(c) WeX/Feather (d) eAS/Kennedy

2
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15. Taefideaic & feem & g AT AT 8l

Tangent key transmits force in

(a) U f&2m/one direction (b) ar feemu/two directions
() < w3t FHithree directions (d) 3‘q?_fI)ch F o HS Adi/mone of the above

16, PrERRd § ¥ Pl T W@ SR
Which of the following is self aligning bearing?
(a) Q@/Conical
(b) deiA/Spherical
(c) HTIAIA/Rectangular
(d) ﬂ?&:ﬁ ﬁ' q Fe #AALI/None of the above

17. fra g, ¥ Rw o # v Rig & e
Pitch point is the point on the cam pitch curve having the
(a) YT ad FIUT/zero pressure angle
(b) geIdA ol FI0T/minimum pressure angle
(c) HOdA G HIVT/maximum pressure angle
(d) T FS AWCES G $there is no such criterion

18. ﬁmﬁf@ﬁﬁﬁﬁaa#ﬁwmwﬁmﬁmqﬁmﬁgﬁa@wﬁ%ﬁv

AT 3GYFA gam?
Which of the following types of threads would be best suited for applications involving high stresses
in one direction?

(a) au/aEyd JI/Buttress threads

(b) 91 Ya/Square threads
OIERAGEEGER T a/Knuckle threads
(@) &-da/V-threads

19. Pr=faf@a § ¥ $ia-ar FFcer 99 52
Which of the following is trapezoidal thread?

@@ A &g/Acme (b) @d/Square |
(c) FEIW/AY/Buttress (@ 3oieFd FHVAL of the above
A 6 ' 1305/16
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20. HIARIIAT V-dec H AT FHioT el
The included angle for V-belt is usually
(@ 50° (b) 40°
() 60° (d 55°

21. @13 R # fG@rw 717 d%e dieds & AR, dlee FT TR FLE|

For the bracket bolted as shown in the load figure, the bolts will develop

Bracket
s

(@ Ygd ool ufdee @ E{ﬁ?ﬂ'ﬂ' 39¥FIUT Yfdeel/primary tensile stresses and secondary
shear stresses -
(b) gl IwRIOT g aﬁ?ﬁq 39&Y0T Gfdsel/primary shear and secondary shear stresses

(c) gt 3q&qur yfadegd a gfadiy defel fddcl/primary shear stresses and secondary

tensile stresses
(d) Jgd ddd Uid€d d a’j%l?ﬁﬁ HdseT gfascl/primary tensile stresses and secondary

compressive stresses

22. faspfa gard & & fav s=a AT T A g AT
Strain gauge should have a high value of gauge factor
(@) AT waE T E/to reduce hysteresis effect
(b) ITIIFd ﬁ?ﬁf wd gfaRir aRada 7 @& A€ d@ /o give linear relation

between applied strains and resistance change

(c) H\&F?II%FIT CrAC ?I—:I:'/to increase sensitivity
() 9RAY ag A FERor IWE F g AT ﬁ_e_la"v_d FET %Ffa/to reduce or eliminate the

effect of variation in ambient temperature

23. #g 3Ed A AT Tl
Mild steel contains
(a) 0.7 to 1.5% Freet/carbon (b)  0.05 to 0.25% FTeaA/carbon
(c) 3 to 3.75% FIal/carbon (d) 3'CI'€_1'EI-?I' =g ﬁé Ael/none of the above

ARV 7 - 1305/16
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4. arEesT 3ifey Y Jesa H AEr & 3T AT ST gl

gases are used in Tungsten inert gas welding.

(a) 3T @ gifcidH /Argon and helium

(b) Eifermd @ Arae/Helium and neon

(c) HEEEGEG] fais/Hydrogen and neon

(d) T SRFESS T §T8gretel/Carbon dioxide and hydrogen

05, @ Y@ ¥ 1Y FREx gl el Y@ w1 3ader ¥ faT giar gl

Continuous thin straight line with zig zag is used for

(2) T&IguT TT/projection line (b) A Id@T/leader line
() & fas {@i/long break line (d) e Telst/cutting plane

26. WWWWW@MHWWTWWW%IHﬁW
mmmquﬁmﬁwa,mM_——%mm

Bending moment M and torque T is applied on a solid circular shaft. If the maximum bending stress
equals to maximum shear stress developed, then M is equal to

(@ T2 b T
(. 2T (d 4T

27. mmﬁ%mﬁamﬁaaﬁ'w@wm%m‘d’%waﬂﬂﬁwm
feRor g ——— Bm|

Shear stress distribution diagram of a beam with rectangular cross section of depth ‘d’ subjected to

central loading will be

A 8 1305/16


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR97

28. T # fe@IT 1T 500 N OR A 77 e & Adfea fFar @ &) ax BC & goa 7
g2l

A 500 N weight is suspended by flexible cables as shown in figure. Find the tension in wire BC

(a) 233N (b) 333N
() 433N d) 643N

29. mﬂmkgaﬁrwﬁg,ETIWS%@T@HTIET%W&?@%#%USO-NWW
el Srar gl Jfasw dsr —— grEm|

A body of mass 10 kg moving with a velocity of 1 m/s is acted upon by a force of 50 N for two
seconds. The final velocity is

(@ 22m/s (b) 1m/s
(c) 21m/s (d 11m/s
30. UH PR & 3gael a@wme —— & gHT B

The working depth of a gear is equal to
(@) faswEa ded Td UswsH gcd F &g Hr E@'/Distance between clearance circle and

addendum circle

(b) US+sH + f33+3A/Addendum + dedendum
(c) Us+sH — f33¥8H/Addendum — dedendum
(d) 3@3’? H & @I$ #Ag1/None of these

3, AR s AR ad — @ gaia £

Motion from a gear box to differential is transmitted through
(a) WIFIW Aft/Knuckle joint

(b) &% Hf®/Hook’s joint

(c) TS 'C’.{%ET/C()nnecting rod

(d) 3MeSH FHA=/Oldham’s coupling

A 9 1305/16
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37. WS dre — &F AT 3uAnr fFe i E

Splined shafts are used for

(a) #R Tug/Impact loads

(b) Y HGAYUT/absorbing vibrations

(c) e g g9 & g &1 e ITdl/axial movement between shaft and hub
(d) 3TT deheT Uldgel/high bending stresses

38. RAT & = (d) T voic FI AKS (1) & &id H g9 —— gl
The relation between the diameter of the rivet (d) and the plate thickness (t) is
@@ d=24t () d=3t
) d=4t | @ d=6vt
39. T FAIOT &Y AT HSMT 3em, 4em T Sem &1 a9 BT v —————— #

Three sides of a triangle are 3 cm, 4 cm and 5 cm. Then the triangle is a
(a) THIS FHIUTRight angled triangle

(b) Hﬂ?{ﬁ'ﬂg BeRoT/Isosceles triangle

(c) ﬁ'ﬂmﬁ'lg' f¥ePI0T/Scalene triangle

(d) THPIUT PAFIvT/Equilateral triangle

40. A=ff@a 7 @ AT 3R@er MNe F1 AF FFR HiT-A1 F76T 82
Which one is not the size of a standard trimmed drawing sheet?

(a) 841 x 1189 (b) 420 x 596
(©) 210x297 (d) 297 x 420

41. Trafaf@d & & 39 ugeds & A Fan SEE @l w1 100 AA qw ww wor
45° &l

Name the quadrilateral where all sides are 100 mm and one angle is 45°

(a) a'rﬁ'ISquare (b) 3MMAd/Rectangle
(c) |HR WHSI/Parallelogram (d) HHAIHI/Rhombus

A 11 1305/16
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37. TdEes e —— & AT IgAeT fFe S g
Splined shafts are used for

(a) AR Q:i‘a?/lmpact loads

(b) YT 37GAMEUT/absorbing vibrations

(c) dve g g9 & &g T 38T ATel/axial movement between shaft and hub
(d) 3T el Ufdeel/high bending stresses

3. RATHF A (M) Ic AR ) F AT F TgT —— T
The relation between the diameter of the rivet (d) and the plate thickness (t) is
(@) d=24t () d=3t
) d=4t (d d=6vt
39. U TAIOT f A AT 3cm, 4cm T Sem §l a9 BT TR —————— B

Three sides of a triangle are 3 cm, 4 cm and 5 cm. Then the triangle is a
(a) HHFHSA fAehIoT/Right angled triangle

(b) H’«FIEJ%IEI'IE' B&IoT/Isosceles triangle

(©) faWIE ﬁil'ﬁ'UT}Scalene triangle

(d) THRIONT FhIvl/Equilateral triangle

40, PAfaRRT § & AT sm@vr ofic #1 A9F NER BA-GT AGT &2

Which one is not the size of a standard trimmed drawing sheet?

(a) 841 x 1189 (b) 420 x 596
() 210 x297 (d) 297 x 420

41. fArfaf@d # & 39 ags & a7 Fan foms @l = 100 A, T s Hor
45° gl

Name the quadrilateral where all sides are 100 mm and one angle is 45°

(a) @3/Square : (b) 3TAA/Rectangle
() THAR ﬂ@?—‘lﬁflParalIelogram (d) W@H/Rhombus

A 11 1305/16
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42. 100 A, ¥ UG & TF Jed W TS A FHT IR e el
Effect of ‘stretch’ command on circle of dia 100 mm is to
(@) 100 . ¥ FeaR HET O & TY god & GEged @ FAal/Circle becoming
ellipse with major dia greater than 100 mm
(b) dcd I d3T ded &1 STT/Circle becoming bigger circle
© 100 3. ¥ dea oY O & WY Jod H GHJed g S l/Circle becoming

ellipse with minor dia greater than 100 mm
(d dcd fagem & El'ﬁé' UHTG 61/No effect on circle dimension

43. 3ier¥Fs ¥ s o & RBwler X:Y Hequd ——— ©
The default X : Y ratio in grid zone of autocad is
(a 10:10 (b) 8:12
() 12:9 d 9:12

44, IO dars Hr @A @ ———|

A Construction line of infinite length can be

() TH 7 A & e A 1 Fhell ¢/trimmed from one end only

(b) T FeAt A e H ST Hehcll g/trimmed from both ends

© fopa ferm A&l T FT Hehcil/cannot be trimmed at all

(d) fAor @ ¥ @ A &1 A1 Fehd &/can be trimmed with construction line only

45, 3ites & 100 B O T S ged 10 AL gl q@Wr deE ¥ ged N W

e ————— &
A circle of 100 mm dia is ‘offset’ by distance 10 mm in Autocad. The possible radius of the circle 1s
(@ 90 (b) 45
(c) 475 (d 525
46. T3 1x bxh & AT qFF F R0 T8 H AFAT T ———F
Developed area of the outer surface of a rectangular box of dimension 1 x b xhis
(@ l+b+h (b) 2(1+b+h)
(¢) 2(Ixb+1xh+hxb) (d 1xbxh

A 12 1305/16
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47. Ueh I@I HP & 30 JUT VP & THAGR ¢ IWT & adids oealg ——— F
s g1

A line is inclined to HP and parallel to VP. Then the true length of a line is represented in
(a) <IRI/Plan

(b) 3e=Idil/Elevation

(¢) dIH q1ed TA/Left side view

(d) efeyoT 9red TSA/Right side view

48. IS v sTurd & Muar & MNafea rar rar § ar 3ieease — & gRafda
gIeT &l
If hot steel is cooled rapidly, the austenite changes into
(a) URTSC/Ferrite (b) YISe/Pearlite
(c) HATEFHIST/Martensite (d) BB IeFerTS/Hyper eutectoid
49. T P TR —— & faT & Fw 7l

Tempering in steel is done to

(a) AT daTel/increase toughness

(b) T ATHT T qﬁ“@ﬂ' &a/refine grain size
ORGEHIGEIEGH H Qfl_;?J'IT Fa/to improve machinability
(d) ferdor 9faRier & See¥/increase wear resistance

50. HFA/INTUA do g3 H doc H MG AT g AV AT FAW: 2000 N T 1000 N

de¢ afd 120 m/min &1 YoM GERT alg # §AIRd Fal —— &

In an open belt drive, the tight and slack sides of the belt loads are 2000 N and 1000 N respectively.
The belt speed is 120 m/min. The power in Watts transmitted by the system is

(@ 1000 (b) 2000
(c) 3000 d 2.66

A 13 1305/16
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51.
10 x 20 ¥ FHEEST AT TS & S5 H T &

The area moment of inertia of a symmetrical rectangular

8 x 10 size as shown in figure about the A — A axis is

10

10

80,000 (b) 88,000

(@)

© 50,000 ) 60,000

52

By # e T AEE 9 (CS) F TEy FH ARSI | FR F CG
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ﬁaﬁﬁmﬁmw,A—AmmﬁHSxmm%éﬁwm—aﬁaﬁm

—%

section of 10 x 20 with a central cutout of

gl

The CG of a symmetrical I section with respect to the coordinate system as shown in figure is

le—="7"5 —>

P

=

oy

15

41

(b) (15,10)
(@), {755

(2)
(©

(1.5,5.5)
(5, 7.5)

14
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53. 10cmammwm$%aﬁ5cmwﬁﬁaﬁm§@waﬁ%:aﬁwﬁm
gelcd 5 gm/ce AT U &I GEAA AT §7? g = 10 m/sec’.

A Cube of side 10 cm has a square through hole of 5 cm size at its centre. What is the mass of the
cube if the density of the material is 5 gm/cc? g = 10 m/sec’.

(a) 375gm : (b) 10000 gm
(c) 3750 gm (d) 37500 gm

54. AT 37 R & v FAfaf@a & @ 5 dee & 3999 BFar arar

Which of the following belt is used for low power transmission?
(@) Welc dec/Flat belt

(b) W3S Sec/Round belt

(c) @ dce/Vee belt

(d) FC Fes doc/Multi-grooved belt

55. i@ doc gsd A, gRdew & gEe @ aR@nfod geelr Hr fGer Fr gefe
For a cross belt drive, what will be the direction of rotation of driver and driven pulleys?
(@) HHA f&2AT A/In same direction
(b) T f&2m #H/n opposite direction
(c) uRTTes § Featr H;'ﬂ?f T aRanfaa W H afas H(;U?H/Vertical rotation in driver
and horizontal rotation in driven pulley
@) uREes 7§ afas E!'\UiFI' g gRanfaa W H FtaftR E[\UﬁFl'lHorizontal rotation in

driver and vertical rotation in driven pulley

56. 3icids A, RArafafaa # ¥ w90 [/ 3nF & smaor fr (3 786 &2
Which of the following is not a method for drawing an arc in Autocad?
(@) g, BFA/Centre, radius
(b) 3, e, PUT/Start, centre, angle
(c) 3IRAA, I, AAVStart, end, radius
(d) g, T, FIUT/Centre, start, angle
A 15 1305/16
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57.

58.

29,

60.

61.

247 —

Prfafd # ¥ Flea aw A 78 82
Which is not a fundamental unit?

(a) GeTATA/Mass (b) ETS/Length
(¢) HHA/Time (d) del/Force

$91 o 3H EIF F Ggd od U Y g ST §, s ared el ST § aur
SUA 9 g 1 4 R i gw s g

Identify the stroke of the engine when the piston moves down, inlet valve opens and mixture of fuel
and air enters the cylinder

(@) A= FZIH/Compression stroke (b) Far TCIH/Power stroke

(c) THUT TUT/Suction stroke (d) IS TUT/Exhaust stroke

0% TelsT Afgd soarad ——

Steel with 0% carbon is

(a) WE'EIF errite (b) I31?~|‘)32‘/Pearlite

() ﬁlﬁrElEE/Cementite (d) @sEW mﬂiypereutectoid

3iTerhe H, MIRRTEXT &I 390197 R @9 o9 dF IRada=Nedr 1 o7 SaAmm S &

dd 3R ‘A —————F T H Yehe g
In Autocad, when the system variable is set to 1 while using MIRRTEXT, the alphabets ‘Ad’ will
appear as

@ Ad (b) dA (c) AP @ bA

DXF S5 & & # 3Herhs 3N@0T H TRWT a<et & FROT — ¥
The reason for saving an Autocad drawing as .DXF file is

(a) DXF W3l et off 37 $2 divedax & @l o awcfr ©1/The DXF files can be

opened in any other CAD software
(b) DXF WISl %A 91§ oIdT &/DXF files takes less space

(c) DXF WISl UH TH a5 # @rell S Al §1/DXF files can be opened in MS Word
(d) DXF WI$el 3Tcihs & Rl KA H Trell ST Fehel & I/DXF files can be opened in old

versions of Auto cad
16 1305/16
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62. FilAd A H ATARTAIFIBREATAT TCd el & folT qFAT Soled — &
Sy

To get a hyperbola in conic section, the section plane must be

(a) i’@ % FEATUR 3787 & FHIA/Parallel to the vertical axis of cone
(b) Qi‘f o FEAnR 38T & ofd/Perpendicular to the vertical axis of cone
(c) %i? % FTATER 3787 & 3TeId/Inclined to the vertical axis of cone
(d) Q.@ o 3R & FHI/Parallel to the base of the cone

63. 3ifcihs &, fe=ifaf@a & & fha ¢l IR & “Mass properties’ ToT HeT ST Tehel &2

In Autocad, which of the following tool bars can be called as ‘Mass properties’ tool?

(a) 3TRW/Draw (b) FER/Modify
(c) HATAS/Standard (d) SHAFR/Inquiry

64. TR 3MCRN T IUANT & F HT Bewieh Foflell THT &Y &2

Using which command, it is not possible to make a frustum of a cone?

(a) dTFe/Loft ‘ (b) Raleda/Revolve
(¢) UsHgEs/Extrude (d) TdI9/Sweep
65. 3Ihs A, Yyag fadeis & v a=g @l ————F

For polar co-ordinate, in Autocad the syntax is
(@ @I < E}:&/@ angle < distance b)) @ ?{a’ < JIUT/(@ distance < angle
(c) @I > {&/@ angle > distance d @ {ﬂ' > SIUT/@ distance > angle

66. farfaf@a & ¥ wia-ar gazaw oA afd a1 s 71fy & aRafda war &2

Which of the following assembly converts rotational motion to linear motion?
() TR PrR/Spur gear ) ¥F T NfTA/Rack and pinion
(c) «ad fR/Bevel gear (d) gforerer ER/Helical gear

A 17 1305/16
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67.

68.

69.

70.

Fr v H A {igdﬂ

Balancing mass is provided at the crankshaft for

(2) RAfiE & #aR #i H@ﬁﬁ iei/balancing weight of cylinder

(b) HBT & geaAA E];Uﬁ' H Q_‘@'fincreasing mass moment of inertia

& foT ar smar g1

GET IT ON
Google Play

(c) e ATT F Ichel gedHTH H '{i@ﬂﬂ'fbalancing eccentric mass of crank shaft

(d) U &HaT A gf&/increasing fuel efficiency

st s /[

The drawing symbol represents [ /

@)
(©)

Aefaf@a F ¥ e smaw gdie & 3nuR a8

Which drawing symbol has no datum in the following?

(@
(©)

o 7 @ 71w 3R ged weTaT & AT adfe A

In the symbol for surface roughness as shown in figure, A represents

o

(@)
(b)
(©)
(d)

afa=ara/Symmetry (b) HATA/Inclination

T FEJA AT B

HHATARA/Parallelism (@ e IOT-3M3/Total run-out

f2ufa/Position (b) eI&d/Perpendicularity
THATARAT/Parallelism (d) HHAAAA/Flatness

gidgelt Fia'léf‘Sampling length
FETAT HEAT/Roughness number
efifeer faf&l/Machining method
o @T f&A/Direction of lay

18

T &2 B
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73 mm‘d’w%ﬁ%mm’aﬁaﬁa@aa@ﬁmmém——h

The arc length AB of the developed cone with base diameter ‘d’ and slant length ‘L’ is

AN

4+—d —>

(@ mnd (b) wd/4
(¢) dxL (d mdr
72. TH3IS WUl & g« Y s ———— 8l
Unit of pressure in SI system
(@) Kgf/mm® (b) UREhel/Pascal
(c) gce/Newton (d) drg/Watts
73. aﬁ'm*———_—-—ﬁqﬁamél

The weld symbol >K represent

(@) & 4 9F de=/Double V Butt weld  (b) ¥WIc des/Spot weld

(c) frealc des/Fillet weld (d) &fd I FE/Double U butt
74, R A RE@UTITBD frFog ——F

The height of BD shown in figure is

100

300 D 450
A B 50
(@ 25 (b) 50
(© 75 (d 100

A 19 1305/16
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75

76.

a1

78,

9.

30.

(2.1) (2.1) + 2 (2.1) (1.9) + (1.9) (1.9) FT T Y|
Simplify : (2.1) 2.1)+2 2.1) (1.9 +(1.9) (1.9)

(a) 14.395 (b) 16

(c) 0.04 (d 4

sin 90°<hT AT —%I

The value of sin 90° is? ,

@ 172 M®d 0
3

© 1 @ =

&Y FEATHT T S8 15 TAT 3T IR 5 &1 STH & I3 F&aT

Sum of two numbers is 15 and their difference is 5. The larger number is

(@ 10 oy
() 20 | | @ 15

GET IT ON
Google Play

gl

Al B & TS 3: 7 F U A ¢l AT g O3 T Feg 12 AL g A g s &

oaTs R g1

Lengths of two rods are in the ratio 3 : 7. If the length of the first rod is 12 m, what will be

the length of the second rod?

(ah 2lan, (b) 36m
(¢) 7m (d 28m
3.62 — 1.42
(3.6 - 1.4) ol
3.6%2 —1.42
(3.6 —1.4)
(@ 5 (b) 25
(c) 2.2 d 1

20
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